Constants: c=2.998x108m/s

kg = 1.38x1072 J/K

h=6.626x10"3*J.s

me = 511 keV /c?

h=h/2r

e=1.602x10"19 C Ny = 6.02x10%

— =8.99%x10° N-m?/C?
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1eV=1.602x10"%J R =1.09737x10"/m
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he = 1240 eV -nm =1.44eV-nm 1u = 931.5 MeV/c?
e
Classical Physics:
2
F=ma K = —mv? a:U— Fio = % Vig = na
2 T 4meg T ey T
Modern Physics:
- ! At = yAt L=1L _ vltve
7= \/ﬁ =78 = Lo/~ Jobs = Tv/c Jsource
7' =y(x —vt) v =y 2=z t':’y(t—Q;—f)
o — Uy —V I Uy o — Uz
Tl —ugv/c? Y (1 —ugv/c?) 2y (1 = ugv/c?)
P=ymi K= (y—1)mc Ey =mc FEiot = ymc? E? = (pc)? + (mc?)?
n; = Ag;e P/ n(v) = 4z N ( m )% v2e~mv"/2KT
' ' vV \2nkT

_h
P=x

dmin =

c _ 8mhf3 1

u(f) = 3 ohf/FT _q

h
Kpax =hf — ¢ N=X+ (1 —cosB)
MeC
2Ze? 1 A 2Zer 1Y 1
— An=nN | = — | —

irey E n=n (R2) (47re0 4E> sin?0/2
_ dmeg h_2n2 E = _1 e’ i ﬂ i

e2 m " 2 \4mey ) B2 n?



